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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN
OR MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE
TEST BOOKLET.

ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE MAY
BE IN THE APPROPRIATE PLACE IN THE ANSWER SHEET.

You have to enter your Roll Number on the Test J

Booklet in the Box provided alongside. DO NOT write
anything else on the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
mark on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

All items carry equal marks.

'Before you proceed to mark in the Answer Sheet the response to various items in the Test

Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent
to you with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Answer Sheet.
You are pérmitted to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE
IN THE OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidate, ene-third (0-33) of the marks
assigned to that question will be deducted as penalty. '

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even
if one of the given answers happens to be correct and there will be same penalty as
above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be
no penalty for that question.

(DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO)
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When a natural number n is divided by 4,
the remainder is 3. What is the remainder
when 2n is divided by 4 ?

(a) 1

(b) 2

@ 3

d) 6

What is the last digit in the expansion of
(2457)" 2

(@ 3

(d)y 7

(c) 8

d 9

If log, 6 = m and log_3 = n, then what is
log, (1/2) equal to ?

(@ m-n+1

(b) m+n-1
(¢c) 1-m-n
d l-m+n

Consider the following statements :

A number a aaaa, is divisible by 9 if
1. a +a,+a,+a, +a;isdivisible by 9.
2. a —a +a,—a, +a,isdivisible by 9.
Which of the above statements is/are correct 7
(a) 1 only

(b) 2only

(¢) Both1and?2

(d) Neither 1 nor 2

What is x(y — 2) (y + 2) + y(z - x)
 (z+x)+z(x-y) (x+y)equal to?
(@ x+y)(y+2)(z+x)

®) x-y)x-2)(z-Y)

© x+y) -y (x-2)

@ G-xE-Nk-2

xbJ

10.

If the remainder of the polynomial

a,+tax+axi+.... + a x" when divided
by (x — 1) is 1, then which one of the
following is correct ?

(a) a, +a, + ... =a +a,+ ...
(b) a,ta,+..... =1+a +a,+ ...
(© l+a,+a+.... =—(a, ta+..... )
d 1-a—a+.... =a ta+ ...

When (x* — 2x? + px — q) is divided by
(x? — 2x — 3), the remainder is (x — 6).
What are the values of p, q respectively ?
(a) -2, -6

b) 2, -6

() -2, 6

(d 2,6

What are the values of ¢ when the HCF
of x* +¢x? - x + 2c and x2 + ¢x — 2 over
the rationals is a linear polynomial ?

(a) =1
(b) =2
(c) 3
(d) =4
If (x + 2) is the HCF of x? + ax + b and

x2+ cx +d (a # ¢ and b # d), then which
one of the following is correct ?

(@ at+tc=b+d

(b) 2a+b=2c+d

(c) b+2c=2a+d

(d b-2c=2a-d

What is the LCM of (x? - y? — z? - 2yz),
(2 —y + 2 + 2xz) and (* + ¥ — 22 — 2xy) ?
(8 x+y+2)x+y-2)(x-y+32
) x+y+z)(x-y-2)(x-y+32
() x+y+2)(x+y-2z)(x-y-12)
@) x+y-2)x-y-2&E-y+2)

-{Contd.}




& g7 quitE nF 4} fawifoa fFa wm
2 QY qoHw 38T B W9 2nH 49
o e wrer @ O Qe wT 8 7
(a) 1

by 2

(c) 3

(d) 6

2457y & g # fw ow Fw
g7

(a) 3

(b 7

(c) 8

@ 9

R log, 6 = m W log. 3 =n &, ar
log, (1/2) ® gUex 1 ¢ ?

(a) m-n+1

(b) m+n-1
(¢c) 1-m-n
(d 1-m+n

et we7 9w e s

9 ¥ uF FEW aaaaa, AWNT B, AR
1. a|+a2+aj+a4+asﬁw%9ﬁ
2. al—a2+a3-a4+asﬁ‘ﬁm%9ﬁ
S ¥ ¥ AT WA T 7@ 8L 7
(@) @1

(b) a2

(¢) 1323

(d TR TE2

x(y -2 (y+2)+yz-x)+tx)+
z(x—y)(x+y)%aww%?
(@) x+y+2)(z+x)

®) x-y)(x-2)(z-Y)

() x+y)z-y -2

d y-xE-y)E-2

3

10.

of duwe 1 @ 9 §gUS a, +ax + ax?
+ oo + a x" M (x - 1D fawfm fFn
wrr 2, @ Preffea ¥ @ @\ @ owd
g ?

(a) a,+a,+ ... =a ta,+
(b) a,+a,+ ... =1+a +a+t.....
(c) 1+a,+a,+.... =~(a, ta,+ )
d lt-a-a+.... =a ta+ .

T (X}~ 2x2 + px — @) B (x? - 2x — 3)

@ PR o owrn 2, @ Qe

(x-6) 81 p,qF HHI A w1 € 7
(a) -2,-6

) 2,-6

() -2,6

d 2,6

T xP+ex?-Xx+2cTW@ x>+ ex~2F
HCF ufddl A Wow =gme & 8,
cHF HH T B 7

(a) =1

(b) +2

(c) £3

(d) +4

g x?+ax+bMT x2+ex+d@=c
R b= d)®1 HCF (x +2) 8, @ Previofes
¥y AT amEdr g ?

(a) atc=b+d

(b) 2a+b=2c+d

(c) b+2c=2a+d

(d b=2c=2a-4d
(xz—y’-—zz—Zyz),(xz—y2+z’+2xz)3ﬂT
xR +y —2-2xy)F LCM =1 & ?
(@ x+y+n(x+y-2)(x—-y+32
b)) x+y+z)(x-y-z(x-y+32)
) x+y+2)(x+ty-2z)(x-y-12)
d x+y-2)(x-y-2)(x-y+2)

(Contd.)




11.

12.

13,

14,

15.

If 3* + 27(3*) = 12, then what is the valye
of x 7

(a) 1 only

(b) 2 only

() lor2

(d Oorl

If x=14++2 » then what is the value of
X -4+ 4x2 7

(a) -1

(b) O

() 1

(@) 2

What is the magnitude of difference of
theroots of x> —ax + b =0 ?

@ a>_4p
b Vb2 _da
© 2422 _4pb
@ Vb —4ab

What is the solution of the equations
X—y=09and 1l1(x +y)' =27

(a) x=32andy =23

) x=1andy = 01

(¢) x=2andy= 11

(d) x=12andy =013

Pooja started her job with certain monthly

salary and gets a fixed increment every
year, If her salary was Rs. 4200 after

3 years and Rs. 6800 after 8 years of

service, then what are her initial salary
and the annual increment respectively ?

(a) 2640, 320
(b) 2460, 320
(c) 2460, 520
(d) 2640, 520

x4

16.

17.

18.

19.

A person bought 5 tickets from a station P
to a station Q and 10 tickets from the
station P to a station R. He paid Rs. 350.
If the sum of a ticket from P to Q and a
ticket from P to R is Rs. 42, then what is
the fare from P to Q ?

(@ 12
(b) 14
{c) 16
(d) 18

The product of two alternate odd integers
exceeds three times the smaller by 12.
What is the larger number ?

(a) 3
(b) 5
© 7
(d) 9

If a* = ¢9=b and ¢’ = a* = d then which
one of the following is correct ?

(a) x/y =g/z

®) x+y=q+z

(€) xy=qz

@ ©v=q

A ball is dropped from a height 64 m
above the ground and every time it hits
the ground it rises to a height equal to
half of the previous. What is the height
attained after it hits the ground for the
16™ time ? _

@ 2%m

(b) 27" m

(c) 2% m

d 2°m

(Contd.)
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12.

13.

14.

15.

iR 3+ 273 =12 2 @ x & WA w0
g 7

(a) wad 1

(b) Fad 2

() 1312

(d o 1

MR x=1+v2 B, @ x¢ — 4x? + 42 F
HH Frog 7

(a) -1

() 0

(c) 1

(d) 2
x*—ax+b=0%F g B ¢ F vfmmor
2 7

(@) +a%-4p

® Vb?-4a

() 2va?-4b

(d) b2 -4ab
TAFTN x —y =09 A 11(x +y)' =2
FTOFT TR ?

(@ x=323y=23

(b) x=13Ry=01

() x=23y=11

d x=123R y=013

F ofX IgET FAT A P 3
§ 4200 3 g adf @@ ® 6800 =W

(8) 2640, 320
(b) 2460, 320
(c) 2460, 520
(d) 2640, 520

16. @& =i 3 v PR /YA QoF I

stz IR VR PR V9 Raw 3
10fewz it ) 9&= T 350 Ry ofz p
qHQar ® RFe X P RaF B fwe
FT UM E 428, & P¥ QoF &1 fhtran

w g ?

17.

18.

19.

(@) 12

(b) 14

(c) 16

@ 18

A whia fasm gl #1 eEwd o
tE # @i 3 ¥ 12 At Aar 21 T
qoife w@m w7 B 7

(a) 3
(b) 5
(cy 7
@ 9
R ar=cr=bdMT o=ar=d8 @
frafafee # @ 7 T et & 7

(a) x/y=q/z

® x+y=q+z

(¢) xy=qz

@ x=¢q

o W T ¥ 64 m I A P e

2 M ydw R 9T ¥ THFOR W @
Rt S & g & FoeT I 8 A
THE & 169 R THUA B 9 Al
Fa wm wOf ?

(a) 22 m

) 2" m

() 2¥m

@ 2°m




20.

21.

22.

23.

24.

What is the value of 2 log(5/8) + log(128/125) +
log(5/2) ?

(@ 0

(d) 1

(c) 2

d) 5

If x cos 60° + y cos 0° = 3 and
4x sin 30° — y cot 45° = 2, then what is
the value of x ?

(a) -1

(& 0

(c) 1

d 2

If the unit of weight is 15/4 kg, what
number will 3/2 quintal represent ?

(a) 25

(b) 6

(c) 1/9

(d) None of the above

A dishonest dealer professes to sell his
goods at cost price, but uses a false weight
and thus gains 20%. For a kilogram he
uses a weight of

(a) 700 g
(b) 750 g
(c) 800 ¢
(d) 850 g

If we divide a positive integer by another
positive integer, what is the resulting
number ?

(a) It is always a natural number
(b) 1t is always an integer
(c) It is a rational number

(d) It is an irrational number

XN

25,

26.

27.

Nine numbers are written in ascending
order. The middle number is the average
of the nine numbers. The average of the
first five larger numbers is 68 and that of
five smaller numbers is 44. What is the

sum of all nine numbers ?
(a) 450
(b) 501
(c) 504
(d) 540

What is the value of

1 1 1
(ﬁ;ﬁ‘ﬁ—ﬁ*ﬁzﬁ‘

1 1

£—£+£-ﬁJ?
(a) 0
(b) 173
() 1
d) 5
Two persons P and Q start at the same
time from city A for city B, 60 km away.
P travels 4 km/hr slower than Q. Q reaches
city B and at once turns back meeting P,
12 km from city B. What is the speed of
P?
(a) 8 km/hr
(b) 12 km/hr
(¢) 16 km/hr
(d) 20 km/hr

(Contd.)




20.

21.

22,

23.

24.

2 log(5/8) + log(128/125) + log(5/2) #1 A
w7 8 7

(a) O

(b) 1

(c) 2

d 5

gfs x cos 60° + y cos 0° = 3 &Y
4% sin 30°—y cot 45° =28 @ x ¥ AH
Fr g ?

(a) -1

() ¢

(c) 1

(d 2

gfe ae M e 15/4 kg, B O FA A
ga 372 fdea & frele st 8 ?
(a) 25

(b) 6

(c) 1/9

(@) S9dw ¥ @ g 79

T A S A9 AT B AN B
R I Ao wEar & fhg e A
& IJTAHT FT 20% TN YT FLdl & | Th
e @ ) 98 fFa? W & T =0
J9AT FHEr B 7

(a) 700 g

(b) 750 g

(c) 800 ¢

(d) 850 g

o} B OF g9 qUiE W qEL g9 Qe
¥ fawivm & & @ oiomh denm #=
@ e

(a) 96 TN TF = Tl ¥

(b) 9B TAET TF QOIH @

(c) & & "RAw wen 2

(d) T TF sORET wem 2

b A |

25. I w9 ¥ A gend foreht o B =
ot §@m 97 A dens #v fwa )
ygq gig a9 wensi & AEd 68 B, A
g YD s & tag 44 8w A
wEE) &1 oo feeaT 2 7
(a) 450
() 501
(c) 504
(d) 540

i 1 |
2. [Jé—\/ﬁ'\/ﬁ~ﬁ+ﬁ—\/6 }

JgiJg'*ﬁiﬁ)*’mWTg?
(@ 0
(b) 173
(c) 1
@ 5

27. § f¥da PR Q @& B §WE I WY A
¥ 60 km X B B T L& FWQ
£1 QX 4 knmvhr i P 9w 21 Q,
BT B Yguar & T XA amg cftew P
F M BY 12 km W fowar 21 P
o feat & 7
(a) 8 km/hr
(b) 12 km/hr
(c) 16 km/hr
(d) 20 km/hr

(Contd.)




28.

29,

30.

31.

A boy walks from his house to school at
2:5 km/hr and arrives 12 minutes late.
The next day he walks at 4 km/hr and
reaches the school 15 minutes earlier. What
is the distance from his house to school ?

(@) 2 km

(b} 25 km

(c) 3 km

(d) 3-5 km

A and B can do a piece of work in
8 days, B and C can do the same work in
12 days. If A, B and C can complete the

same work in 6 days, in how many days
can A and C complete the same work ?

(a) 8

(b) 10

(c) 12

(d) 16

The compound interest on a sum for
2 years is Rs. 832 and the simple interest
on the same sum at the same rate for the

same period is Rs. 800. What is the rate
of interest ?

(a) 6%

(b) 8%

(¢) 10%

{(d) 12%

A person invested part of Rs. 45,000 at
4% and the rest at 6%. If his annual income

from both are equal, then what is the
average rate of interest ?

(a) 46%
b) 4-8%
(€) 50%
d) 52%

32.

33.

34.

35.

What would be the printed price of a watch
purchased at Rs. 380, so that after giving
5% discount, there is 25% profit ?

(a) Rs. 400 !
(&) Rs. 450
(c) Rs. 500
(d) Rs. 600

A person A sells a table costing Rs, 2000
to a person B and earns a profit of 6%.
The person B sells it to another person C
at a loss of 5%. At what price did B sell
the table ? | |

(a) Rs. 2054

(b) Rs. 2050

(c) Rs. 2024

(d) Rs. 2014

if a:b=l—;—:2% and b:c=2:3% then

what is a : b : ¢ equal to ?

(a) 12:8:21
(b) 8:21:12
(c) 8:12:21
(d 21:8:12

A bag contains Rs. 114 in the form of
1 rupee, 50 paisa and 10 paisa coins in
the ratio 3 : 4 : 10. What is the number
of 50 paisa coins ?

(a) 76
(b) 72
(c) S6
(d) 48




28.

29,

30.

~31.

TF d9H F97 WX § WA F
2-5 km/hr 41 @ "o 12 e 6 R
gwar 81 I T @' 4 kmv/hr 3 R
et & 3 15 e ved wgaar 31 W
¥ & W gl ah g7

(8 2 km

(b} 25 km
(¢) 3 km
(d) 35 km

AR B &d ® 8§ RA & #t ga
g, B coft v Y 12 7 & =¢
ghd &1 AR A, B 3k C 3 wd #
6 R A qu wit wha &, 9 A3k C 3
Frf # ey R & g oww ww # 7
() 8

(b) 10

ey 12

d) 16

g U 9 2 3 w1 oawgfe s
T, 8§32 8n 2 e I g9 ot w9
TC & FoA B U F WYRY SO
% 800 BT &1 sUM T OB 7

(a) 6%

(b) 8%

(c) 10%

) 12%

T iR A € 45,000 F TF 9T FT 4%
3T 9T T AW T # 6% g¢ W AW
fFary of? 39 =T il ¥ IF aftls s
FEe ¥, O Aga = X ey & ?

© (a) 4-6%

(b) 4-8%
() 50%
(d 52%

2

32. & 380 % wOd v w1 gia qeu R

33.

34.

35.

BT =y, ad & 5% 9 3 W 25%
G -

(a) = 400

(b) = 450

(c) & 500

(d) & 600

W A, & 2000 ETG B T 2§
=ies B # d=ar 8 M 6% TN FwIET

21 R B IR 5% Y W 37 @R
C ! d5ar 81 B3 et #img o e«
F=h ?

(@) = 2054

(b) ® 2050

(c) & 2024

d) T 2014

U I | 1
tb=1—:2— b:c=2:3—
e a 5 24 AT b:ic 5 g,

a:b:cfHad syac &8 ?

(a) 12:8:21

(b) 8:21:12

(c) 8:12:21

(d) 21:8:12

wm AR A w114 & fmw 1 =,
508 X 103 T Rt 3:4: 10
Fom A B 50 T fawwt o wam
freft 2 7

(a) 76

(b) 72

{(c) 56

(d) 48

(Contd.)




36.

37.

38.

39.

Two taps can fill a tub in 5 minutes and
7 minutes respectively. A pipe can empty
it in 3 minutes. If all the three are kept
open simultancously, when will the tub
be full ?

(a) 60 min

(b) 85 min

(c) 90 min

(d) 105 min

If (x/y) = (z/w), then what is (xy + zw)?
equal to ? )

(a) (x* +2z}) (y* + w?)

(b) x*?* + z*w?

()
(d)

xX2w? + y?z?
(x> + W) (y* + 27)
1 2 1009

If + + —=1 hat i
v+l ya2 zetoog | rihenwhatis

y z .,

the value of X + + ]
y+2 z+1009

x +1

(a) O

(b) 2

(c) 3
(d) 4

Suppose y is equal to the sum of two
quantities of which one varies directly as
x and the other inversely as x. If y = 6
when x = 4, and y = 10/3 when x = 3,
then what is the relation between x and y ?
(a) y=x+ (4/x)

(b) y =-2x + (4/x)

() y=2x + (8/x)

(dy y=2x ~ (8/x)

40.

4].

42.

43.

A train of length 150 m takes 10 s to
cross another train 100 m long coming
from the opposite direction. If the speed
of first train is 30 kmph, what is the speed
of second train ?

(a) 72 kmph
(b) 60 kmph
(c) 54 kmph
(d) 48 kmph

There are some coins and rings of either
gold or silver in a box. 60% of the objects
are coins, 40% of the rings are of gold
and 30% of the coins are of silver. What
is the percentage of gold articles ?

(a) 16

(by 27

(c) 58

(d 70

What is the total number of three digit
numbers with unit digit 7 and divisible

by 11 2

(a) 6

() 7

(c) 8

d 9

What is the sum of positive integers less
than 100 which leave a remainder 1 when

divided by 3 and leave a remainder 2 when
divided by 4 ?

‘(a) 416

(b) 620
(c) 1250
@ 1314

(Contd.)




36

37.

38.

39.

QA9 W ew w1 wAm 5 e ek
7fe ¥ X g 1 @ U9 IR
3 e o @l FX gt g1 Ok T @
Y oga § A T w8 wm ?

(a) 60 fAe

(b) 85 fae

(c) 90 FAz

(d) 105 frae

e (xfy) = (z/w) 8, T (xy + zw)? e
FEC 8 7

(@) (x2+2) (y*+w)

(b) x2y2 + ZIWZ

(c) x*w? + yz?

(d) x*+w) (y*+2)

1 N 2
y+2

1009

ar Y Z+1009

ol

x+1
xil+y12+z+f009
(a) 0
(b) 2
(c) 3
(d) 4
AT F oy O @ aRm 9w & awEy
2 Rl o i x @ agEd R gEd
x % ogoRA faee ol €1 IR y=6v9
x=4 AT y=103v" x=3 8 @
x 3 y& i gdg w8 ?
(@) y=x+ (4/x)
(b) y = —2x + (4/x)

HWAF TS ?

(©) y=2x+ (8/%)

(d) y=2x - (8/x)

40. & 150 m @t oo facda fRm |/ I

41.

42.

43,

TRl 100 m oy qEE I F IR FEA
¥ 10 ¥z o<l B AR yow TS F\
T 30 kmph B, @ @ T[N B A

R ® 7

(a) 72 kmph

(b) 60 kmph

(c) 54 kmph

(d) 48 kmph

w ge ¥ oo Red ai dfed @ W
a3 A e ol o F | R T aeg
T 60% &, el A 40% €1 M B, IR
fat ¥ 30% Tid 3 F) WA N oawgA
1 giowd #0027

(a) 16

(b) 27

(c) 58

(d) 70

W e s IRl desi A, R
THE IF 78 W 11 & R g,
Fa wen feaft 8 7

(a) 6

d 7

(c) 8

(d 9

AW 100 ¥ B2 g yiw @, REw
3% fwfha F3 o 9o 1 3R 4 9@

o G 9 VoRa 2 @At B, 9
FT 87

(a) 416
(b) 620
(c) 1250
(d) 1314




44,

45.

46.

47.

What is the greatest number which divides
392, 486 and 627 so as to leave the same
remainder in each case ?

(a) 47
(b) 43
() 37
(d) 34

A man walking at the rate 3 km/hr crosses
a square field diagonally in 1 minute. What
is the area of the field ?

(a) 1000 m?
(b) 1250 m?
(c) 2500 m?
(d) 5000 m?

The difference between the area of a square
and that of an equilateral triangle on the
same base is 1/4 cm?. What is the length
of side of triangle ?

(3 (4-+3)"? cm
(b) (4++/3)"? cm
() (4-+3)"? em
(d) 4++3)"% cm

A horse is tied to a pole fixed at one
corner of a 50 m x 50 m square field of
grass by means of a 20 m long rope. What
is the area of that part of the field which
the horse can graze ?

(a) 1256 m?

(b} 942 m?

(c) 628 m? -

(d) 314 m?

48.

49.

50.

31.

Two sides of a parallelogram are 10 ¢cm
and 15 cm. If the altitude corresponding
to the side of length 15 cm is 5 ¢cm, then
what is the altitude to the side of length
10 cm ? |

(@) 5cm

(b) 75 cm
(c) 10cm
d) 15cm

From a rectangular metal sheet of sides
25 cm and 20 cm, a circular sheet as large
as possible is cut-off. What is the area of
the remaining sheet ?

{a) 186 cm?
(b) 144 cm?
{c} 93 cm?
(d) 72 cm?

Three cubes each of side 5 cm are joined
end to end. What is the surface area of
the resulting cuboid ?

(a) 300 cm?
(b) 350 cm?
(¢) 375 cm?
(d) 400 cm?

The diameter of the moon is approximately
one-fourth of that of the earth. What is
the (approximate) ratio of the volume of
the moon to that of earth ?

(@) 1/16
(b) 1/32
(c) 1/48
(d) 1/64

(Contd.)




44, U wad I wewr, w392, 486 AT

45.

46.

47.

627 ® WO T WX WUF ¢ NNFET a9
A 2, w9 @ & 7

(a) 47

(b) 43

(¢} 37

d) 34

T FEA 3 km/hr AT I F 0F aiEC
f3 N [evfa: | e & o w2
A F &9%g 7 & 7 '

(a) 1000 m?
(b) 1250 m?
{c) 2500 m?
(d) 5000 m?

T AR I 91 S gHarg B @
AAGAT FT AAT 1/4 cm? 2 | ExCRARE
RABGEIERE & 2

(a) (4_J§)|12 cm

(b) (4+4/3)"? e¢m

(C) (4_&)—112 cm

d) (4++/3)7"2 cm

TF 50m x S0m IeR U@ F & B
T H7 9X o @¥ ¥ wF WEr 20m
GETRRESIEC AR - - i g
g, Rl d9er WX e 2, B
27

(a) 1256 m?

(b) 942 m?

(c) 628 m?

(d) 314 m?

48.

49,

50.

51.

TF FAMG TgYT B R gl 10 om AT
15 con T &1 AR 15 om e #r wqon
F g1a F9E Scm B, @ 10 om daE #
T # FT FAE ww R 7

{(a) 5cm

(b) 75 cm

) 10cm

(d 15cm

25 cm 3T 20 cm o AN ©F ITTETET
g # T F TEEE AN A T o
U W FTE Ot ¥ &< g Wy
AR T 2 7

(a) 186 cm?

(b) 144 cm?

(c) 93 cm?

(d) 72 cm?

@ w Y #, R wlF 9 5 om 2,
R & R Pramre gt wmn 21 sfomd
¥ F Yss HART R 8 7

(a) 300 cm?

(b 350 cm?

(¢) 375 cm?

(d) 400 cm?

S F W gl B W R uw DY
F wPde &) dFw B ameT W g
# FEaT ¥ P I T g7
(a) 1/16

) 1/32

(c) 1/48

(@) /64

(Contd.)
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52.

53.

54.

55.

56.

What is the area of a right angled isosceles

triangle whose hypotenuse is 672 cm ?
(a) 12 cm?
(b) 18 cm?
(c) 24 cm?
(d) 36 cm?

If A is the area of a triangle in cm?, whose
sides are 9 em, 10 cm and 11 cm, then
which one of the following is correct ?

(a) A <40 cm?
(b) 40 cm? < A < 45 em?
() 45 cm? < A < 50 cm?
(d) A>50cm?

A roller of diameter 70 cm and length
2 m is rolling on the ground. What is the area
covered by the roller in 50 revolutions ?

(@) 180 m?
(b) 200 m?
(c) 220 m?
(d) 240 m’

A cylindrical rod of length h is melted
and cast into a cone of base radius twice
that of the cylinder. What is the height of
the cone ?

(a) 3h/4
(b) 4h/3
(c) 2h
(d) W2
A cylindrical vessel of base radius 14 cm
is filled with water to some height.
If a rectangular solid of dimensions

22 cm X 7 cm x 5 ¢m is immersed in it,
what is the rise in water level ?

(a) 05 cm
(b) 1-0cm
(¢) 1'25 cm
(d 1'5cm

57.

S8.

59.

A lead pencil is in the shape of a cylinder.
The pencil is 21 cm long with radius
0-4 ¢cm and its lead is of radius 0-1 cm.
What is the volume of wood in the
pencil ?

(a) 9 cm?

(b) 94 cm®

() 99 cm’

(@ 101 cm?

What is the angle (in radian) included

between the hands of a clock, when the
time is 10 minutes past 5-?

(a) 17n/36
(b) 197/36
(c) 5n/9

(d) 7=/12

A

B Q b
In the figure given above

ZCDQ = —g If

AB = x, PQ = z and CD =y, then which
one of the following is correct ?

ZABD = ZPQD =

11
@ 3*37%
111
® 77y
1.1 1
© z*77%
1 1 2
@ '3z

(Contd.)




52. u® guhIvl wAigEg Brogst @1, R #of
6v2cm B, Sma T B ?

(a) 12 cm?
(b) 18 cm?
(c) 24 cm?
(d) 36 cm?

53. A 9 cm, 10 em X 11 cm &EA @
e 1 &A% A (cm? ®) 2, @ PRl
¥ Qw9 woad 27
(a) A <40 cm?

(b) 40 cm? < A <45 cm?
(c) 45 cm? < A < 50 cm?
(d) A> 50 cm?

54, & Uex, Nwa w70 om 9o =
2me, 3 W dredt T F:wr R
Jad 50 aRwAv A qg Fm omm s@a
AT 8 7
(a) 180 m?

(b) 200 m?
(c) 220 m?
(d) 240 m?

55. TF h @R F IAATHR B B TART
waT 8 R UR uig W g W @ e
X Begr §e9 & s Bewm #@)
A 2 wg AW FaE B ?O?
(a) 3h/4
(b) 4h/3
(¢) 2h
(d) h/2

56. & STATERIC 91 B, e amu B
14cm 2, 99 § FT FAE T W RO
21 3R 22 c¢m x 7em x 5 cm o
TF IOAER BE B OIJEH FEWT 9w B,
@ v " ¥ et gfg enft ?
(a) 0-5cm
(b) 1:0 cm
(¢) 1'25 cm

(d 1'5cm

57. % Seer dar IR 81 IR ) e
21 cm 3T BrAr 04 cm & AT I9F €/
B 01 em 21 RS F oFre W
FaT ¥4 B ?

@ 9cm?

(b) 94 cm®
) 99 cm®
(d 101 cm?

58, 99 udt ¥ wwy S §9wY 10 e @ 8
€ ol & wiel d A9 g4 qo (R
) 7|7 27
(a) 17n/36
(b) 197/36
(c) 5n/9
(d) 7n/12

59. A

B
SefFa e &
ZABD = £PQD = ZCDQ = g afe
AB=x,PQ=2z3R CD=y#%, & Frafefem
¥ H9 97 TF 9g 8 ?

1

1
@ Y772




60. APQR is right angled at Q, PR = 5 ¢m

61.

62.

63.

and QR = 4 cm. If the lengths of sides of
another triangle ABC are 3 cm, 4 ¢m and
5 cm, then which one of the following is
correct ?

(a) Areaof APQR is double that of AABC
(b) Area of AABC is double that of APQR

@ <=2

2
(d) Both triangles are congruent

Which one of the following figures has
only one line of symmetry ?

(a) Rhombus

(b) Rectangle

(c) Isosceles trapezium

(d) Parallelogram

A ladder 25 m long is leaning against a
wall which is perpendicular to the level
ground. The bottom of the ladder is 7 m
from the base of the wall. If the top of
the ladder slips down 4 m, how much
will the bottom of the ladder slip ?

{(a) 7m

(b) 8§ m

(c) 10m

d 15m

If C, and C, and r, and r, are respectively

the centroids and radii of incircles of two

congruent triangles, then which one of

the following is correct ?

(a) C, and C, are the same point and
I, =T,

(b) C, and C, are not necessarily the same

pointand r, = 1,

C, and C, are the same point and r,

is not necessarily equal to r,

C, and C, are not necessarily the same

point and r, is not necessarily equal

to I,

(©)

(d)

64,

65.

66.

In the figure given above, P is a point on
AB and PQ is parallel to AC. What is the
number of pairs of distinct similar triangles

in the figure ?
(a) 1

(b) 2
{c} 3
) 4
If the medians of two equilateral triaﬁgles

are in the ratic 3 : 2, then what is the

ratio of their sides 7

(@ 1:1
(b) 2:3
(¢) 3:2
@ V3:42

The centroid and the orthocenter are
coincident for which one of the following
triangles ?

(a) Scalene triangle

(b) Isosceles triangle

(¢) Equilateral triangle

(d) Right angled triangle

_ (Contd.)




60.

61.

62.

63.

APQR, Q W wxFnfiy 8, PR =5 cm X

‘QR=4cm1 T & gEL Brgw ABC #1

Ja¢ 3 cm, 4 cm 3R 5 cm o9 A £

qar freafafes & 9 @ o wd 2 7

(a) APQR &1 &A%dA, AABC & &A%
¥ AT B

(b) AABC # &7%d, APQR & &=%dt

¥ AT B

o -2

(d) A7 Proge wafraw

freafafes & @ a9 @ @& Il @

Mes aulfe s &8 7

(a) wAEGHS

(b) 3mad

(c) wifgarg St

(d) AR =g

Tw 25 m ddt @ Haw | F 2

dad o ¥ daaq 2 @ w1 Freen

Rag s ot 5 & 3maR § 7 m )

21 ai @1 # il o dae 9T 4 m

o fmgea 2 @ @& = Fraar

fraaT Rygsm ?

(a) 7Tm

(b) 8 m

{c) 10m

(d) 15m

R A wabrew Pt Q@ gl @

Fd A Bred wwe C, A C, |

rlﬁrzﬁ?ﬁﬁ‘ﬁrﬁf@ﬁﬁﬁﬁm

ww wE g ?

(@) C,M C, & & By & M r =r

(b) uE smawEF AEl & C M C, &
g & M, =1,

(c) C, M C,ww & g ¥ g

waﬁ%raﬁtrzm

[

E‘bﬂzﬁ ap

64.

65.

Irfa fa ¥ ABwR uF Rig P2 X
PQ, AC & TR 81 Pt wawy Byl
F A A dem R o?

(@) 1

(b) 2

) 3

(d 4

R Q) Ty B A Al e
AT 3:28, @ I Rl F AT

CFm g ?

66.

@ 1:1

(b) 2:3

(c) 3:2

@ V3:42

Prafafea Bigelt & @ 3= @1 BoE
2 Brasr dvga T deRTE WU
2

(a) fosmmag P

(b) wARgEE A

(c) wwag P

(@) "wRw Pryw




67.

68.

In the figure given above, a circle is
inscribed in a quadrilateral ABCD. Given
that BC =38 cm, QB =27 cm, DC =25 cm
and AD'is perpendicular to DC. What is
the radius of the circle ?

11 ¢cm
14 cm
15 ¢cm

16 cm

In the figure given above, what is
ZCBA ?
(a) 3Q°
(b) 45°

Ac) 50°

(d) 60°

69.

70.

71.

A, B, C; D are four distinct points on a

circle whose centre.is at O.

If ZOBD - ZCDB = £CBD - Z0ODB,
then what is ZA equal to ?

(a) 45°
(b) 60°
(c) 120°

(d) 135°

PQ is a common chord of two circles.
APB is a secant line joining points A and
B on the two circles. Two tangents AC
and BC are drawn. If ZACB = 45°, then
what is ZAQB equal to ?

(a) 75°
(b) 90°

(c) 120°

() 135°

ABCD is a concyclic quadrilateral. The
tangents at A and C intersect each other
at P. If ZABC = 100°, then what is ZAPC
equal to ?

(a 10°

(b) 20°

{c) 30

(d) 40°

(Contd.)




69. A,B,C,DIRX fr7 g o 39 w &
Rt 95 0 2

gfe ~OBD - ZCDB = /CBD - #ODB
g W ZATFTR @ s B 7

(a) 45°
(b) 60°

c) 120°
Iugwr Rr ¥ =g ABCD # @& sadw :di 1350
21 BC =38 cm, QB =27 cm, DC = 25 cm
MM AD, DC W wa 21 ga # PBrwm 70. Q i Y Ivafrs Fa1 PQR I APB
et & 2 BTF Tar & A A g W A AR
B® Azh 21 wvl@ AC 3R BC

(a) 11 cm
®) 14 gier ot &1 3t ZACB = 45° 8 @
cm
© 1 ZAQB & §UET T 8 7
c S ¢m .
75°
(d) 16 cm @
(b) 90°
() 120°
(d) 135°

71. ABCD wHgxig =gss 81 A C W
T TF gER # P UX Fredl 81 Ui
ZABC = 100°, @ ZAPC fFad & sxE

g2

(@) 10°
wﬁwﬁaﬁchAﬁ:ﬂm%? (b) 20°
o
© 50 (d) 40°
(d) 60°

19 - (Contd.)




72.

73.

In the figure given above, M is the mid
point of the side CD of the parallelogram
ABCD. What is ON : OB ?

(a) 3:2
(b) 2:1
) 3:1
d 5:2
E
B
0
Q
Y A X

In the figure given above, YAX is a tangent
to the circle with centre O. If ZBAX = 70°
and ZBAQ = 40° then what is ZABQ
equal to ?

(a) 20°

(b) 30°

(c) 35°

(d) 40°

74.

75.

3\_/(:

In the figure given above, AP = 3 cm,
PB =5 cm, AQ =2 ¢m and QC = x.
What is the value of x ?

()
(b)
(c)
(d)

6 cm
8 cm

10 cm

12 cm

In the figure given above, O is the centre
of a circle circumscribing a quadrilateral
ABCD. If AB = BC and ZBAC = 40°,
then what is ZADC equal to 7 |

(a) 50°
(b) 60°
) 70°
(d) 80°

(Contd.)




72.

73.

ST fm & wwiox =gds ABCD #
I CD &1 7ex g M 21 ON : OB 71
g ?

(a) 3:2
(by 2:1
() 3:1
(d 5:2
E
B
O
Q
Y A X

IEF Rra ¥ YAX 39 &), Rmwr 3w
OB, Tmien B ok /BAX = 70° s
ZBAQ = 40°8 @ ZABQ fFasd sust
g7

(a) 20°

(b) 30°

(c) 35°

(d) 40°

74.

75.

SogF fm ¥ AP =3 cm, PB = 5 cm,
AQ=2cm 3T QC=x&1 x ¥ "7 |
8 7

(a) 6cm

{(b) 8 cm

(¢) 10 cm

(d 12 cm

D

(g

<7

Sogded o § wqys ABCD # afiga @
F¥% O afd AB=BC AT ZBAC = 40°
g W ZADC ® s ¥ £ ?

(a) 50°
(b) 60°
() 70°
(d) 80°

(Contd.)




76.

77.

78.

79.

Let AB and AC be two rays intersecting
at A. Let D, E be the points lying on

AB, AC respectively and P be the point

such that P divides the line DE such that-

PD : PE = AD : AE. What is the locus of
the point P ?

(a) The angle bisector of angle A

(b) The angle trisector of angle A

(c) The perpendicular bisector of angle A
(d) None of the above

What is log (tan 1°) + log (tan 2°) +
log (tan 3°) +........... + log (tan 89°) equal
to ?

(a) O

(b) 1

(c) 2

(dy -1

Consider the following‘equations :

1. cosec’x + sec?x = cosec? X sec? x
2. sec¢? x + tan? x = sec? X tan? x

3. cosec’ x + tan? x = cot? X + sec? x
Which of the above statements are correct ?
(@) 1 and 2 only

(b) 2 and 3 only

(c) -1 and 3 only

(d) 1,2 and 3

If cos x + cos? x = 1, then what is the
value of sin? x + sin® x ?

(a 0

(b 1

(c) 2

(d) 4

80.

81.

82. If

83.

84.

If sin x cos x = 1/2, then what is the
value of sin x — cos x ?

(a) 2

®) 1

(c) O

(d -1

If tan’ y cosec? x — 1 = tan? y, then which
one of the following is correct ?

(a) x-y=0 '

(b) x =2y

{c) y=2x

d x-y=1°

COS X
1+cosecx

COS X
cosec X —1

=2, which one

of the following is one of the values
of x 7

(a) n/2
(b) n/3
(c) m/4
(d) n/6

If x+y=90°and sin x : siny = ,f3:1,
then what is x : y equal to ?

(@ 1:1

(b) 1:2

@) 2:1

@ 3:2

sin x

=n, ———=m, then what is
sin y

cos X
cos y

If

{m? — n?) sin’y equal to ?
(a)
® 1+n
© m
d) n?

1 — n?

(Contd.)




76.

77.

78.

79.

A A & A gt @ gR=3d oY
AB X AC £1 wm ARA B Rig
D, E #9%. AB, AC WX ¥, P fig
¥@r DE #1 Y Rwim & 8 &

PD : PE = AD : AE| fdg P#1 g #m
g ?

(a) B A FT P GHEASE

(b) HT A FT Fror FHLAAEE

(c) FUT AT Falgw™F

(d) 7@ # & :F A A&

log (tan 1°) + log (tan 2°) + log (tan 3%) + .....
+ log (tan 89°) & FTET ¥ 8 7
@ 0

(b) 1 -

(c) 2

(d) -1

Freafofese affleron gt faam ifsc .

1. cosec?x + sec?x = cosec? x sec? x

2. sec? x + tan? x = sec? X tan? x

3. cosec® x + tan® x = cot? x + sec? x
e o ¥ Q4 WY ol 7
(a) 31 1 3T 2

(b) & 2 AT 3

(c) Fae 1 3T 3

(d 1,23 3

I cos x + cos? x = 1 8, @ sin® x + sin* x
T A Fm g 7

(a) 0

(b) 1

(c) 2

(d) 4

80.

81.

82.

83.

84.

o sinx cos x = 1/2 8, A sin x — cos x
w oA ¥R O?

(@ 2

(b) 1

(c) O

(d) -1

7 tan? y cosec? x — 1 = tan? y B, @
fFreafofem & & f7 @m oF w& 8 7
a x-y=0

(b) x =2

() y=2x

d x-y=1°

COS X Cos X

afy =2 & @
I+cosecx cosecx -1

Preafefes & & a7 @ o, x F WA
TA R ? '

(a) n/2

(by =/3

(c) n/4

(d) n/6

afd x +y=90°3M sinx :siny = f3:]
2@ x:y® aua ¥ 8 ?

(a) 1:1

b) 1:2

) 2:1

(dy 3:2

afs COS X _ n sin X _ & @
cos y sin y

(m? = n?) sinfy & SqEC ¥ 8 7

(@ 1-n?

(b) 1 +n?

() m’

(d) o

{Contd.)




85.

86.

87.

88.

If 0 £ x £ n/2, then which one of the
following is always correct ?

(a) sin? x < 1/2 and cos? x > 1/2
(b) sin? x > 1/2 and cos? x < 1/2
(c) sin? x < 1/2 and cos? x < 1/2

(d)

At least one of sin? x, cos? x is less
than |

If p = tan? x + cot? x, then which one of
the following is correct ?

(a) p<2
(b p22
(c) p<2
(d p>2
What is the value of

5sin 75°sin 77°+ 2 cos13°cos 15°

cos15%sin 77°
7 sin 81° 9
cos 9°
(a -1
(b) 0
(c) 1
(d) 2

<A radio transmitter antenna of height

100 m stands at the top of a tall building.
At a point on the ground, the angle of
elevation of bottom of the antenna is 45°
and that of top of antenna is 60°. What is
the height of the building ?

(a) 100 m
(b) S0 m

(€) SO(3+Dm
(d 50(3-D)m

89.

90.

91.

The angle of elevation of the top of an
unfinished pillar at.a point 150 m from
its base is 30°. If the angle of elevation at
the same point is to be 45°, then the pillar
has to be raised to a height of how many
meters ?

(a) 594 m

(b) 61'4m

(c) 624 m

(d) 63-4m

Which one of the following represents

statistical data ?

(a) Th; hames of all owners of shops
. located in a shopping complex

(b) A list giving the names of all states

of India

(c) A list of all European countries and

their respective capital cities

(d) The volume of a rainfall in certain

geographical area, recorded every

month for 24 consecutive months

Ifsinx+siny=aandcosx +cosy=b,
what is sin x - sin y + cos X * cos y equal
to ?

(a) a+b-ab

(b) a+b+ab

() a*+b -2

al+b?-2
CY) 5

(Contd.)




85.

86.

87.

88.

e 0<sxsn28 @ Preaffea & @
I A O 9e9 @@ ? 7
(a) sin? x < 1/2 3T cos? x > 1/2

(b) sin? x > 1/2 3 cos? x < 1/2

(c) sin®x < 1/2 3T cos? x < 1/2

(d) sin®x,cos2x® ¥ F ¥ F9 T,
1d BT B

afd p =tan? x + cot? x & @ Fyefafem

I O R i

(@) p<2

(b) pz2

(c) p<2

(d p>2

5sin75°sin 77°+2cos13°cos 15°

cos15°sin 77°

7 sin 81°
cos 9°

® AT FT B 7

(a) -1

() 0

(c) 1

d 2

TF 999 F We 9¢ 100 m FIR I TH
W I T @1 B oo @
fag o wdET W Tl F oIEET W
45° IR AT B T @ IO wm
60° 2 WA & Fa w| B ?

(a) 100 m

{b) 50 m

(c) 50(/3+1)m
(d) 50(+/3-1)m

89.@mﬁﬂ%malsomﬁ
o g W @Y & Wl w1 I e
30021 ok I Rrg o @ @ ol ®=
I BT 45° BT 8 W @R H fhaA
Aex Fa€ 9% Ismr wQ ? |

90.

(a) 594 m

(b) 614 m

(c) 624 m

(d) 634 m

Pt ¥ & 17 o, ke Jiws

F frele sw@r 2 7

(a) s, Wik HFRew § sEfoa @i
TFEl F R ® Am

(b) 9ig & wH yIwl F AW W @&
LSl

(¢) @ft Fqdw T N I I T
gl W g

d) = fafire hifes &3 § whkwme
FHTIG 24 AIGl aF T @ TR aoi &
HTAT

9]. 4R sinx+siny=a3dR cosx+cosy=b

2 @ sinx-siny+cosx-cosy® T
w|OE 7

{(a) a+b-ab

(b) a+b+ab

(c) a2 +b*-2

a? +b? -2
@ |7




92. The arithmetic mean of a set of 10 numbers

93.

94.

is 20. If each number is first multiplied
by 2 and then increased by 5, then what
is thc mean of new numbers ?

(a) 20

(by 25

(c) 40

(d) 45

Consider the following types of data :

1. Marks of students who appeared for a
test of 100 marks.

2. Collar sizes of 200 shirts sold in a week.

3. Monthly incomes of 250 employees of
a factory.

For which of the above data, mode is a

suitable measure of central tendency ?
(a)
(b) 2 only
(c)
(d)

1 and 2 only

1 and 3 only
1, 2 and 3

The mean of 25 observations is 36. The
mean of first 13 observations is 32 and
that of last 13 observations is 39. What is

the value of 13* gbservation ?
(@) 20
) 23
(c) 32
(d) 40

95.

96.

97.

Data on percentage distribution of area
of land in acres owned by households in
two districts of a particular state are as

follows :
Land holding  District-A  District-B
0-01—0-99 5-62 13-53
1-0—2:49 18-35 21-84
2-5—7-49 4712 39-32
7-5—12-49 19-34 12:15
12:5--19-99 7-21 743
20-0—29-99 236 573

What is the appropriate diagram to
represent the above data ?

(a) Pie diagram

(b) Histogram

(c) Bar chart

(d) None of the above

If o is the angle of first quadrant such
that cosec’ o = 17 + cot’ «, then what is
the value of sin o ?

(@ 173
(b) 1/4
c) 1/9
@ 1716

If x + (1/x) = 2 cos o, then what is the

value of x2 + (1/x?) ?
(a)
(b
(©)
(d)

4 cos? a
4cosPa—1
2 cos? & — 2 sin®

cos? a - sin? o

(Contd.)




92.

93.

94,

10 ¥@Rl & TF |99 & gqia 4l

2021 AR vl wem ¥ wega 2% O

fFor snar & R AT SE® 5 WSy W

g, @ A% deurs & Aiew F4r g o?

(a) 20

(b) 25

(c) 40

(d) 45

Proafefen goe 3 awsl W A

e - |

1. 39 R & gmaie S 100 SF T

 TE Thee F 83 ¥

2. U OqE ¥ 346w 200 FHE F Fel
T A |

3. T FRE@A $ 250 FHARG B AR
FERT | |

Sufa siwst ¥ ¥ e /fa g, sgew

Ff7 FaRy 1 SugRs W9 B 7

(a) da@ 1 AT 2

(b) Faa 2

(c) aﬁalqﬁt3

(d 1,23 3

25 YeA0 H1 ATeH 368 | WOwW 13 XA FT

Trem 32 ik sifw 13 YEe w1 W

392 13% Y&or AT w4 OB 7

(a) 20
(b) 23
(c) 32
(d) 40

95. wH fi Wi B A Re A et B
wifieg # -8l 1 TEst H ylaew deF
frreafafea 2 -

gffr arer frar-A Rrer-B
0-01—0-99 5-62 13-53
1-0—2-49 18-35 21-84
2-5—7-49 47-12 39-32
7-5—12-49 1934 12-15
12-5—19-99 7-21 7-43
20-0—29-99 2:36 573

IwdTa siwst w Prefa +33 aen I

NG w77

(a) w3 Im@

(b) I IRE

(c) &9 @

(d) Suwdwm ¥ & g T

96. Uk wgw wgatwr F I o W B W

cosec® o = 17 + cot* o, @1 sin o F HA
TR 7

@) 113

) 1/4

(c) 1/9

) 1/16

97. TR x + (1/x)=2cos o B, T x2 + (1/x?)

w oA w7

(a) 4 cos’ a

(b) 4 cos’a—1

() 2cos’a-—2sin’a

(d) cos? a — sin? @

{Contd.)




Directions : ,

Each of the next THREE (03) items consists of
two statements, one labelled as the “Assertion (A)’
and the other as ‘Reason (R)’. You are to
examine these two statements carefully and
select the answers to these items using the
codes given below :

Codes :

(a)

(b)

()
(d)

98.

Both A and R are individually true and
R is the correct explanation of A

Both A and R are individually true but R
is not the correct explanation of A

A is true but R is false

A is false but R is true

Assertion (A): If two triangles have

same perimeter, then they

are congruent.

: If under a given corres-
pondence, the three sides
of one triangle are equal
to the three sides of the
other triangle, then the

two triangles are congruent.

Reason (R)

99. ABC is a triangle. Let D, E denote the

mid points of BC, CA respectively. Let
AD and BE intersect at G. Let O be a
point on AD such that AQ : OD =2 : 7.

Assertion (A): AO = (2 GD)/3
Reason (R) : OD = (2 AG)/3

100. ABC is a triangle. AD, BE, CF are altitudes

of AABC.
Assertion (A): (AB? + BC? + CA?) >
(AD? + BE? + CPF?)

(AE>-AF) + (B~ BD?)+
(CD* — CE») = 0

Reason (R}




Adw

98.

It = (03) yEEl F yAw ¥

TR TE D TET (A) W gEX D

PO (R) F&T TR 1 T O gt

w1 gEuHiyds e st ™ geie @

S A4 Ru gu 5z A wewar /A

T

7

(a) A RIA @t & & R A®
Bl wed IR 2

(b) AT RAAY @&l &, wg R, AT
8 wedtweo T 2

() AWE 8 g R7e@ 8

(d) Ave 8, u-g R % 2

YT (A) :

FLT (R)

99. ABC % fay« 21w &g, D, E wwwr:

BC, CA % #mlig @ At & &1 w1
@it AD s BE fig G w wfredew
FW@ ¥ W @, AD WX BT O @
WwR e 5 AO:0D=2:72

T (A) : AO = (2 GD)/3
TR (R) : OD = (2 AG)/3
100.7% s ABC 81 AD, BE, CF, AABC
7 tieferg &)
F97 (A) : (AB? + BC? + CAY) >
. (AD? + BE! + CF})
R (R) : (AE? - AP) + (BF? - BD?) +

CD*-CE) =0




SPACE FOR ROUGH WORK
Fo w1 F R




SPACE FOR ROUGH WORK
F= % & R’y
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Note : English version of the instructions is printed on the front cover of this Booklet,




